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Chemistry 328

Review Limiting Reactant and Redox Reaction

Part I 

1. Please provide the appropriate chemical name and/or chemical formula for the

    following:

a. Br2P4  

b. Tin  (IV) sulfite

c. Cu(C2O4)1      

d. Trichlorine pentoxide

2. Write the balanced chemcial reaction including phases for calcium metal reacting

     with flourine gas.  Is this reaction a Redox reaction, explain.

Part II
Showing all work, indicate what species is oxidized, reduced, reducing agent, and oxidizing agent for the following balanced chemical reactions. 

a.     1 C6H12 (l)  + 9 O2 (g)   ( 6 CO2 (g)   + 6 H2O(g)    


b.     2 HNO3 (aq)  + 6 HI (g)   (2NO(g) +  3 I2 (s)  + 4 H2O(l) 
Part III

Tin is produced from its ore (tin oxide) in the following reaction: SnO2 (s)  +  C (s)  (  Sn (s)  +  CO2 (g) .   If  25.3 grams of tin oxide and 14.7 grams of carbon reacts, 

a. Determine the limiting reactant

b. Mass (units of grams) of each product that is formed in this reaction

c.  Determine the excess reactant and how many grams are left after the reaction.

Part IV

Aluminum and copper (II) sulfate react to form a solid product and an aqueous product.

a.
Write the balanced chemical reaction?

b. 
Showing all work, determine the net ionic reaction.

c. 
If I reacts 1.87g of aluminum with excess copper (II) sulfate to produce 3.74g of

 the solid product.  What is the percent yield of the solid product ? (Please correct

 chemical symbol for this product).

